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If the matrix 4 — (
Iy —1

) catisfies A{A?+ 1) = 25, then the value of K is :
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Explanation

Given matrix 4 = I:U = ]

A% 3 = 2f
= At =2F - 34
Also characteristic equation of A 15 |A—Af| =0

0 — 2 B
i =

= A+rT—2=0D

= A+ A*=2K _T

= AT=2KF— A

= AY = 4K + A® — AR

Put 4%=2K7— A

and A*=2r—34

27 —3A = AR + 2KT — A — 44K

= (2 —2K —4AK %) = A2 —4K)

= —2f2K? + K —11=24(1 —2K)
= —2f(ZH — 1K +1}=2A(1 — 2K

== (2H — 11({2A) — 22K — 1N +1y=10

= [ZH — l||?.ﬂ1.—?]'|h' + ]:li =1
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Sumerical

If A [; 'z]. then the volue of det{a%) + det(aM® _ (A4j(243)1%) iz equal to

Answer

Correct Answer is 16

Explanation
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|4 _ ad {2.4)") =0

o odet{a®]) 4 det(a™® — Cadjlasined

= 18 + 0 = 18
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Humerical

Let A={a;;} be a 3 x 3 matrix,
(=17 of 1<y,
where a,;, = 2 if =

7
q._l.:|r+J F:f "'-}Ji

then det (344j(247")) is equal to

Answer

Correct Answer is 108

Explanation

|A| =4
det (3adj(247")
= 3%|adj(2a")|

— 392471

| 2

: .22_7'2 — 108
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Humerical

Let A be a 3 x 3 real matrix. If det(2Adj(2 AdjCAdj(2A)))) = 2%, then the value
of det(A?) equal

Answer

Correct Answer is 4

Explanation

adj (2A) = 22 adjA

I

adj(adj (2A)) = adj(4 adjA) = 16 adj Cadj A)

=16 1 A1 A

~adj 32 1 A1 A =@3B21A1)2adjA

12(321 A D2 ladj A1 =23 (32 1 A D% | adj A |

23 .230 | A8 oA 12 =29

| A8 =28 5 | Al = 42

lAI1Z2=1AI2=-4
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Let &, . = —de, * n>mand n, m ¢ N. Consider a motrix 4 —[a
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A= Jog om og

. Then |adjA~'| is 2
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